Lattice Multiplication (E)

Use lattice multiplication to find each product.

2 8 4 0 8 2 2 3
2 7
7 8
7 6
0 8
2840 x 2770 = 8223 x 7868 =
6 4 71 2 9 1 1 0
5 8
1 3
0 5
3 3
6472 x 5103 = 9110 x 8353 =
7 6 0 1 2 3 0 8
7 5
2 5
1 3
6 2
7601 x 7216 = 2308 x 5532 =
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Lattice Multiplication (E) Answers

Use lattice multiplication to find each product.

2 8 4 0 8 2 2 3
0 1 0 0 ) 5 1 1 2 7
0 4 6 8 0 6 6 4 4 1
1 5 2 0 7 6 1 1 2 8
7 4 6 8 0 4 4 6 6 4
1 5 2 0 7 4 ] 1 | 6
8 4 6 8 0 6 8 2 2 8
0 0 0 0 0 6 1 1 2 8
6 0 0 0 0 9 4 6 6 4
6 8 0 0 8 5 6 4
2840 x 2770 = 7,866,800 8223 x 7868 = 64,698, 564
6 4 71 2 9 1 1 0
3 2 3 1 5 7 0 0 0 8
3 0 0 5 0 7 2 8 8 0
0 0 0 0 1 2 0 0 0 3
3 6 4 7 2 6 7 3 3 0
0 0 0 0 0 4 0 0 0 5
0 0 0 0 0 0 5 5 5 0
1 1 2 0 3 2 0 0 0 3
2 8 2 1 6 9 7 3 3 0
6 6 1 6 5 8 3 0
6472 x 5103 = 33,026,616 9110 x 8353 = 76,095, 830
7 6 0 1 2 3 0 8
4 14 /10 /o /] 4 1 10 T4 A s
5 9 2 0 7 1 0 5 0 0
1 1 0 0 ) 1 1 0 4 5
4 4 2 0 2 2 0 5 0 0
0 0 0 0 1 0 0 0 2 3
8 7 6 0 1 7 6 9 0 4
4 3 0 0 6 0 0 0 1 )
4 2 6 0 6 6 4 6 0 6
8 8 1 6 7 8 5 6
7601 x 7216 = 54.848.816 2308 x 5532 = 12,767,856
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